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;A <- matrix(c(1,2,3,4,5,6),ncol= 2, nrow = 3)

(1102](,3)
(1,] 135
(2] 246
>A[1,2]
[(1]3
> A <- matrix(c(1,2,3,4,5,6),ncol=3,byrow=T)

(1102]03)
[1,] 123
(2,] 456
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> sasaki <= list ("2&MW", “35",¢(70,60,40,30))
> names (sasaki) <-¢ ("HA","FE£R","4AR")
> sasaki
$ HME
(1)"=m
$ N
[1)"35"
$ A
[1] 70 60 40 30
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> height <= ¢ (148,152,154, 158,163) D <-data.frame (231
> weight <= ¢ (562,564, 56,58, 60)
> D <~ data.frame (height, weight)
>D
height weight
1 148 52
2 152 54
3 154 56
4 1568 58
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’ — read.table() Ch031 .d'dt Ch032.d‘dl Rl
3 EPY(CSV) namelA B namel, A, B ¢

- read.csv()

Al 148 52 A1, 148,52
A2 152 54 A2,152, 54

17X NOEN
— header = TRUE A3 154 56 A3, 154, 56
(h=T:HBETED) A4 158 58 A4, 158, 58
1782 &TOAN A5 163 60 A5, 163, 60

— row.names =1




> h1 <= read.table(“ch031.dat” ,header=T, row.names=1)

> h2 <- read.table (“ch032.dat” ,header=T, row.names=1, sep="“,")

> h3 <~ read.csv(“ch032.dat” .,header=T, row.names=1)

> mean(h1$A) ]

> var(h1)

> cor(h1)

.
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name | xp | X | Xn—pn | K=t | Cin=ptn) (o= t)
A1l 148 52

A2 152 54

A3 154 56
A4 168 58
A5 163 60

sum (75 280
ave 155 56
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name | X | Xu | Xn—pn | Xw=ttw | Con=ptn) (u=st)
A1 148 52 = | -4

A2 152 54 -3 — 7

A3 1564 56 - 1 0
A4 168 58 3 2
A5 163 60 8 4
sum 775 280 0 0
ave 155 56 0 0
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name | X | Xu | Xn—Htn | Xw=tw | Con=ptn) (Xu=st)
A1l 148 52 7 -4 28

A2 152 54 -3 — -

6
A3 164 56 - 1 0 0
A4 168 58 3 2 6
A5 163 60 8 4 32
sum 775 280 0 0
ave 185 56 0 0
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name | Xy | X | Xn—Hn | Xw=tw| (Xh=pn) (Xu=ft)
Al 148 52 -7 -4 28

A2
A3
A4
AD

SUim
ave

152
154
158
163
775
155

o4
06
o8
60
280
06

-3 -2 6
- 1 0 0
3 2 6
8 4 32
0 0 72
0 0 18
62=33 62=10 | ——-2— =0.9908674
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r > h1 <= read.table(“ch031.dat” ,header=T, row.names=1)

> h2 <- read.table (“ch032.dat” ,header=T, row.names=1, sep=",")

> h3 <- read.csv(“ch032.dat” ,header=T, row.names=1)

> mean (h1$A)

> var(h1)

> cor(h1)
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A2
A3
A4
AS
Sum
ave

152
154
158
163
775
155

04
06

-3 -2
- 1 0
3 2
8 4
0 0
0 0
£=33 gs=10
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72
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r > h1 <~ read.table(“e01.dat” ,header=T, row.names=1)

> h2 <- read.table(“e02.dat” ,header=T, row.names=1, sep=",")

> h3 <~ read.csv(“e02.dat” ,header=T, row.names=1)

> mean (h1$A)

> var(h1)

> cor(h1)




